
ERRATUM 

Open File ?aps 433 to 443 

Open fil e 433 (46--0/1) 

UT} 45000 E, 7439000 N: amend area t o have drift 
contact ( oooo ) as shown: 

50 51 

UTM 446000 E, 7451000 N: unlabe lled unit should be : A\Pc
53 54 
- ----+-- 47 

UTM 453500 E, 7411-6000 N: add missing contact as shown : 

Open file 434 (46--0/2) 

UTM 429500 E, 7446500 N: unlabelled unit should be : ~Pn 

Open- file- 435 (46--0/3) 

UTM 409000 E , 7438000 N: unlabelled unit should be : ~Pn 

UTM 408300 E, 7 43 9300 N: unl.aballed unit should be : A\ Pc 

UTM 408800 E , 7437400 N: unlabe lled island should be : A\Pc 

Open file 436 (46--0/6) 

UTM 414000 E , 7 480000 N: 
UTM 414000 E , 7479300 N: units l a.belled A\Png should be : ~Pn 

UTM 398000 E, 7472000 N: unlabe lled unit s hould be :-4.Pcs 

UTM 406000 E, 7462700 N: unlabelled unit should be : ~Pc 

Open f i le 437 (46--0/7) 

UTM 4JJ;.OOO E , 7464000 N: unlabelled unit should be : A\Pc 

Cross - section opposite UTM 7472000 JI! : unlabelled unit should be : A\Pn 

Open file 438 (46--0/8) 

UTM 453'000 E , 7 4 79000 N: lli"1labelled areas should be : A\ Pc 

Open file 41.0 (46- P/4) 

UTM 474000 E , 741.7500 N: unlabelled unit should be : ~Pc 

UTM 469000 E , 7 41. 7000 N: unlabelled area should be : ~g 

Open file 411-1 (46- P/5) 

UTM 469000 E, 7486000 N: three unlabelled u:nits from north to south 
should be : Ag , A\Pn , -4.Pns (thin unit) . 

UTM 472500 E, 7482500 N: unlabelled unit b etween units .Am and .2\n 
should be : .2\ggdn · 

. . 
UTM 4 71000 E, 7 481000 N: unlabelled un..i.t should be : Am 

UTM 468500 E , 7470000 N: area requires amendment to 
be as -s hown: 
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